M C P Series | cepus

ISO 6431 or / unu UNITOP

* Magnetic version as standard
* Special client’s version upon request

» Tandem and multi-position version
available upon request

Bores
LHuamembp

32; 40; 50; 63; 80; 100;

Working pressure
PabomHo HansizaHe

Max 10 bar
Max 1 MPa

Fluid
PabomeH ¢briyud

50 um filtered, lubricated or non-lubricated air
50 um cbunmpupaH, cyx, omacneH unu HeomacsieH 8b30yX

Temperature range
Temnepamype+ duana3oH

NBR: max +60°C
VITON: max +110°C

Construction type
Tun KoHcmpyKyusi

Square aluminum profile
lpogpunHa anymuHuesa enokcupaHa mpnba

Magnet

MazHum e 6ymanomo

Standard for the whole range
CmaHO0apmHo 3a usnama cepusi

12VdINOD

PRODUCT NUMBER

MPOOYKTOB KoL

MCP(U) - 32 - 200 - F/M-P -V - X

Series

Cepusi o—

UNITOP & — —

Bore
o

Juamemsbp

Stroke

Xod

L e

l Stainless steel rod
Hepbxdaem npbm

VITON seals

YnnemueHusi VITON

L ¢ Passing-through rod

lMpoxodeH npbm

F - Female thread

Bwbmp. pe3ba
M - Male thread

BbHwHa pesba

AMTEP

-
1)
Wy




M C P Series / cepus

ISO 6431 or / unu UNITOP

RV C
Q
<
- - —+ S
]
D+xoa
F+xoA
g | A © D E F G M P Q R S U
UNITOP UNITOP ISO |UNITOP
32 1 12 14 | 46 |G1/8” 53 46 32,3 M8 | 10 | M6 M6 6,0 14
RV C
_ _ _ <
|\_ S
H
D+xoA
F+xoA
o A | C D E F P | Q R S | S1 U
ISO |UNITOP UNITOP ISO [ UNITOP
40 |12 | 14 | 46 |G1/8” 53 | 55 55 42 M8 | 10 | M6 M6 2,5 14
50 |16 | 16 | 50 |G1/8”| 58 |64,5| 64,5 50 M10| 13 | M8 M8 2,5 16
63 16 | 16 53 G1/8” 61 | 78 78 62 M10| 13 | M8 | M10 2,5 16

L
CL |
r—
7

\uw
y,
"




M C P Series | cepus

ISO 6431 or / unu UNITOP

———————————— O] =
g  A|C| /D | E | F G H L M P Q R S ' $1 T |U
ISO UNITOP ISO |UNITOP ISO UNITOP

80 | 20 |18 | 56 |G1/8”| 66 | 99 99 8 |10 | 72 82 |M10| 17 M10| M10 8 | 4 /40|20
100 25|18 67 G1/4” 77 |[119| 119 9 10 | 89 103 |M12| 22 \M10| M10 8 | 4 /40|24

12VdINOD

RV C

D+xoaA L B
F+xoa
g A | B|C|D E F G H| L M Q R S | $1 U
ISO | UNITOP ISO | UNITOP ISO |UNITOP

3212 12214 46 G1/8" 53 | 46 46 7,7 /323 323 |10 | M6 M6 6,0 | 2,5 | M10x1,25

5
i~
Ll |
r—
7
N

~



28

M C P Series | cepus

ISO 6431 or / unu UNITOP

RV C
- - - - ‘K_ - :-é
H
D+xoa L B
F+xoa
g A | B | C|D E F G H| L M Q R S|S1| T )
ISO |UNITOP ISO |[UNITOP ISO |[UNITOP
40 112 |22 14 46 |G1/8"| 53 | 55 55 6,5/ 7 | 38 42 10 | M6 M6 6 2,5 22 M10x1,25
50| 16 24 |16 | 50 |G1/8”| 58 |64,5| 64,5 8 | 47 50 13 | M8 M8 6 (2,5 24 M12x1,25
6316 |24 |16 | 53 |G1/8” 61 | 78 78 8| 857 62 13 | M8 M10 6 2,5 29 M12x1,25
[—L—! » RTC
N L7 ] ]
@ ‘ % LT ] Q
[ o 5ip o
O | O | N
WO O mE ]
% Frxon
| A B B1/ C |D| E F G H| L M Q R S |S1| T U
ISO | UNITOP ISO | UNITOP ISO |UNITOP
80203218 17 |56 G1/8”| 66 | 99 99 10| 72 82 17 [IM10| M10 8 | 4 140 M16x1,5
100| 25|40 28 (17,5/67 |G1/4”| 77 | 119 119 10| 89 103 22 (M10, M10 8 | 4 140 M20x1,5
(ALTEP
1 %27 N1 kn




M C P Series / cepus

ISO 6431 or / unu UNITOP

RV C

oA ™0

H H
L+xoA D+xoa L
F+2*xoA
g/ A | C|D E F G H| L M P | Q R U
ISO | UNITOP ISO | UNITOP ISO |UNITOP
3212 14 | 46 |G1/8”| 60 | 46 46 7|7 1323 323 | M8|10 | M6 M6 13,5

12VdINOD

RV C

DA

L+xoA D+xoA L
F+2*xoA

@ A/ C| D E F G H| L M P|la R T U
ISO |UNITOP ISO |UNITOP ISO |UNITOP

40 | 12 | 14 | 46 |G1/8”| 60 | 55 55 65 7 | 38 42 M8 10 M6 M6 22 |13,5
50 16 16 50 G1/8” 66 64,5 64,5 8 | 8 |46,5/ 50 |M10| 13 | M8 M5 24 | 16
63 | 16 | 16 | 53 |G1/8"| 69 | 78 78 8 | 8 |57 62 'M10/ 13 M8 | M10 | 29 | 16

5
i~
Ll |
r—
7
N

©



30

M C P Series | cepus

ISO 6431 or / unu UNITOP

m RVC -
N L 7 ]
0© "y — —
[ EEI D of ¢
[ W
RO OAY HE .
LEBMJ {_PTU Loxon - a 'H‘l
glalBlc|[D|[E]F G L M Pl aQ R T U
ISO |UNITOP ISO |UNITOP ISO |UNITOP
80 | 20 18| 17 | 56 G1/8" 76 99 = 99 10 | 72 | 82 |M10| 17 M10 M10 | 40 20
100| 25 | 18 |17,5| 67 |G1/4"| 87 | 119 119 10 | 89 | 103 |M12| 22 M10/ M10 | 40 24
RV C
Q
_ e Sl<
S
| |
E i |
H H
B L+xoA D+xoaA L B
F+2*X0A
g/ alBlc|D F G H M Q R U
ISO | UNITOP ISO | UNITOP ISO | UNITOP
3212 22 14 46 G1/8" 60 46 =~ 46 | 7 323 323 10 M6 M6 | M10x1,25
(ALTIP
1 %22 N1 k=




M C P Series / cepus

ISO 6431 or / unu UNITOP

RVG

B L+x0A D+xoA L B
F+2*x0oA

g | A B |C D| E F G H | L M Q R T u
ISO UNITOP ISO UNITOP ISO UNITOP

40 |12 |22 | 14 | 46 |G1/8” 60 | 55 55 65 7 | 38 42 10 M6 M6 22 | M10x1,25
50 | 16 | 24 16 50 G1/8” 66 64,5 64,5 8 | 8 |46,5 30 13 | M8 M5 24 | M12x1,25
63 |16 |24 | 16 | 53 |G1/8” 69 | 78 78 8 | 8 | 57 62 13 M8 | M10 | 29  M12x1,25

12VdINOD

- m _ RV C - -

@» O ] 1
[ O EJ}[ = o o Js

= /

Pe-@% <0 am

LDB—:AJ B Lixon S Déx ‘LT B
glalBlB1|c|D]| E |F G H | L M Q R T U
ISO |UNITOP ISO |UNITOP 1ISO |UNITOP

80 | 20 |32 18 |17 | 56 |G1/8” 76 | 99 99 8 10| 72 82 17 /\M10| M10 | 40 M16x1,5
100 25 40 28 |17,5 67 G1/4”| 87 119 119 9 |10/ 89 103 | 22|M10| M10 | 40| M20x1,5

{TEP

-

1)

Ry,
[)



M C P Series |/ cepusi

ISO 6431 or / unu UNITOP

Ne Accessories Page Ne Accessories Page
Akcecoapu Cmp. Akcecoapu Cmp.

1. | PHS Jointing ball 40 5. | CA Hinge 41
YXo0 cbC chepuyeH nazep LLlapHupeH Kpenex

2. | MFC Floating joint 40 6. CB Hinge 42
@riekco-KyrnyHa LlapHupeH Kpernex

3. | FA Flange 41 7. | CMSS | Hinge with ball bearing 42
®naHey, Kpenex cbc cehep. nazep

4. | LB Foot 41 8. | RCI Sensor switch 45
Onopa Ham4yuk

L
= ]
r~

-

\uw

y,
"

32




